Movement Distance

Movement Distance

40

30

20

10

40

30

20

Slope
(Bisection Point * Viscosity)

Slope
(Constant Error * Viscosity)

0.8
° z 0.6 °
(@) 2= o (]
(©) O. o 3
ps) 8S 04 oo
Q B
SE @ g e oo
P @ _ e g 02 &
P @ B = ® SO0
@0 )
0
0.5 1 1.5 -0.015 -0.01 -0.005 0
Force Slope
(Movement Distance * Viscosity)
0.02
) £ 00150 0%
O o] (]
o 28 ° ®
o 8> 0.01 o %
(D *
o°° 8 o? o®
S go © S 0.005 o ©
W@ 0
0.5 1 1.5 -0.6 -0.4 -0.2
Force Slope

(Movement Distance * Viscosity)

10
) @ @
@ ([}
5
) @ 8 é
oo Py
0 ..
@ 09
-5
-10
-0.015 -0.01 -0.005 0
Slope

Slope
(Bisection Point * Viscosity)

(Movement Distance * Viscosity)

5><10_:3
Y X
0 e Goq
e
5® e © e
® %
-10
-15 ]
-20
-0.6 -0.4 -0.2
Slope

Slope
(Constant Error * Viscosity)

(Movement Distance * Viscosity)

0.5
Slope
(Force * Viscosity)

%107

0

0.01
Slope
(Force * Viscosity)

0.02



